LERERE7 V75— O

I—-1 I—1 m—1 V-1
RKEOBROGHLSRICOVTHEEEZHRA T |RELEREICHART IR - W OVTH |RERE, BDER. PATHERLERELET |BERE. BRZOEK. h)Fa5LkE
CEEL, REEHATILESL, t@%gémﬁ-ﬁﬁuourﬁagéﬂi ISOVWTHBEERZA TS,
TLEEW,
FHRA Bl)
SBEFER

I—1 EIE = () HH| 1—1 EIE = (%) | m—1 EIEE () B v—1 EIZ 2 (%) 5
DETHLHR 100 3 DETHLHR 66.7 2 DETLHR 33.3 1 DETHLHR 66.7 2
QR 0 0 Q¥R 0 0 QPP B 33.3 1 QPP 0 0
©OF:¢ 0 0 (©F-3:1 0 0 [OF=3¢:1 0 0 [©F=3:1 0 0
@BOFE 0 0 @OOFE 33.3 1 @POFE 33.3 1 @HOF 0 0
®ETHRHE 0 0 BLTHTH 0 0 ®LTHRE 0 0 ®LTLFH 33.3 1
®FB 0 0 ®FB 0 0 (G&§::] 0 0 ©FH 0 0

g 3 it 3 &t 3 it 3
FAUBFEER

1—1 EER% | 1—1 & (%) | m—1 EER%  HH| V-1 EERG%  H
DETHHER 100 1 DETHHER 0 0 DETHHR 100 1 DETHHER 0 0
QPR 0 0 Q¥R 100 1 QPR 0 0 QBT 0 0
(©F-3:1 0 0 (©F: 3t 0 0 QL& 0 0 [©F: 3t 0 0
(OREE N1 0 0 (ORE<E ¥ 0 0 @ROOT 0 0 [ORcR<E ¥ 100 1
®LTHRH 0 0 BOETHRH 0 0 ®LTHFH 0 0 ®LTHFH 0 0
®FB 0 0 ®F B 0 0 ©TH 0 0 ©FH 0 0

i 1 it 1 it 1 it 1
E3 L3

I—1 EIZ = () | 1—1 EIE = (h) | m—1 EIEE () B v—1 EIEE () 5
DETHHER 100 4 DETHHER 0 0 DETELHE 0 0 DETHHR 0 0
@vviEE 0 0 QVYHER 75 3 QVYHR 50 2 QVPHER 75 3
©F:3t1 0 0 (©F=3%1 0 0 [OF=3¢:1 50 2 [OF=3":1 25 1
@BOFE 0 0 @OOFE 25 1 @POFiE 0 0 @BOF 0 0
®ETHRHE 0 0 BLTHTH 0 0 ®LTHRE 0 0 ®LTHFE 0 0
®FB 0 0 ®FB 0 0 (G&§::] 0 0 ®FH 0 0

&t 4 &t 4 &t 4 &t 4
75 U REFER

1—1 EER% | 1—1 & (%) | m—1 EER%  HH| V-1 EERG%  HH
DETHHER 100 1 DETHHER 100 1 DETHLHR 100 1 DETHLHER 0 0
Q¥R 0 0 QPR 0 0 QPR 0 0 QPR E 0 0
(©F- 3¢ 0 0 (©F- 3¢ 0 0 Q& 0 0 [©F: 3t 0 0
@OF i 0 0 @OF i 0 0 @OOT 0 0 @ROFE 0 0
GETHTH 0 0 GETHTRH 0 0 ®ETEHRE 0 0 ®ETHFHE 100 1
®FBA 0 0 ®FBA 0 0 ©TH 0 0 ©FH 0 0

it 1 it 1 it 1 it 1
&% - REREER

I—1 [E1& = () HE| 1—1 EI& = (%) | m—1 EIZE () B v—1 EIEE (%) "85
DETHHER 100 2 DETHHER 100 2 DETEHLHE 100 2 DETHHR 100 2
Q¥R 0 0 QPR 0 0 QPR 0 0 QPR 0 0
QL& 0 0 (O3] 0 0 [OF=3¢1 0 0 [©F=3":1 0 0
@OOFH 0 0 @OOFE 0 0 @OOFiE 0 0 @HOF 0 0
®LETHRH 0 0 BETHTH 0 0 ®LTHRE 0 0 OLTHFE 0 0
GEN;] 0 0 ®FB 0 0 (Gg§::] 0 0 ©®F8 0 0

it 2 it 2 &t 2 it 2
ZotE FHTH)

1—1 EER% %] 1—1 EEE (%) 3| m—1 EER%  HH| V-1 EERG% %
DETLER 0 DETLER 0 DETHLHR 0 DETHLHR 0
Q¥R 0 Q¥R 0 @PPHE 0 QPYHE 0
(©F -3¢ 0 (©F: 3¢ 0 Q& 0 [©F: 3t 0
@BOFHE 0 @OFHE 0 @B 0 @PPOTiE 0
GETHTRH 0 GETHTRE 0 ®LETHRE 0 ®ETHFHE 0
®FBA 0 ®FB 0 ©TH 0 ©FH 0

it 0 it 0 &t 0 it 0
BARBERR 1 5H
I—1 EIE = () HH| 1—1 EIE = () HH| m—1 EIEE () HH| v—1 EIE = (%) "8
ETHLHR 0 ETHHER 0 DETHLHE 0 DETHHR 0
OB R 0 ORE R 0 QPYiHE 0 QPvHE 0
EiE 0 =i 0 (O} $51 0 [©F: ¢t 0
OO 0 KOO 0 @BOTE 0 @POTiH 0
BLTHRHE 0 BLTHRHE 0 BLTHRHE 0 B THLRHE 0
®F8 0 ®F8 0 ©7 8 0 ©®7T 8 0
it 0 i 0 &t 0 it 0
Z O FERTH)
1—1 EER% % 1—1 EEER (%) | m—1 EER% % V-1 EERG% %
ETHER 0 ETHER 0 ETHHR 0 DETLHR 0
1010 R 0 010 0 PR 0 QPrHEE 0
=il 0 =il 0 =il 0 [©F:$t1 0
OO 0 OO 0 ORRE S 0 @RPOTE 0
DETHRH 0 DETHTRE 0 DETHRH 0 ®LTLFH 0
®FBA 0 ®FBA 0 ©TH 0 ©FH 0
k 0 it 0 &t 0 it 0
EX:3

I—1 EI% = () HH| 1—1 EIE = (%) HH| m—1 EIEE () HH| v—1 EIE = (%) 8
DETHHER 100 11 DETHHER 45.5 5 LTHLHER 45.5 5 DETHHER 36.4 4
QPR 0 0 QPPHR 36.4 4 PPHR 27.3 3 QPPHR 27.3 3
QLiE 0 0 QLiE 0 0 iE 18.2 2 [©F=3"1 9.1 1
(OREE Y1 0 0 @POFH 18.2 2 PO 9.1 1 [ORR k¥ 9.1 1
®LETHRH 0 0 BLTHTHE 0 0 ®LTHRE 0 0 G THTH 18.2 2
®FB 0 0 ®F8 0 0 ©7 8 0 0 ©T 8 0 0

it 11 it 11 it 11 it 11




